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Algebra (Solving two equations in two variables, one of which is of
the first degree and the other of the second degree)

Geometry (Central anqgle and measuring arcs)
1) Find in R x R the solution set of the following equations:

X =3,x%+y?=25.

2) Two real numbers have a sum of 8 and the sum of their squares is 34,
find the two numbers.

3) Find in R x R the solution set of the following equations:
y+2x=7,2x*+x + 3y = 19.
4) Measure the arc that represents %the measure of a circle, then find the

length of this arc if the radius of the circle =7 cm (1T =g ).

5) In the opposite figure:
AB /I CD , A0/l CH

prove that m( DB) = m( HO)
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Algebra (Solving two equations in two variables, one of which is of

the first degree and the other of the second degree)

Geometry (Central anqgle and measuring arcs)
1) Find in R x R the solution set of the following equations:

X =y, x?+y?=50.

2) Two real numbers have a sum of 5 and the sum of their squares is 17,
find the two numbers.

3) Find in R x R the solution set of the following equations:
X—-2y—-1=0,x*-xy =0.
4) Measure the arc that represents ithe measure of a circle, then find the

length of this arc if the radius of the circle =14 cm (T =% ).

5) In the opposite figure: x
ABCD is arectangle drawn inside a circle, D A
the chord DH is drawn such that HD = CD,
C B

prove that AD = BH
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Algebra (Solving two equations in two variables, one of which is of

the first degree and the other of the second degree)

Geometry (Central anqgle and measuring arcs)
1) Find in R x R the solution set of the following equations:

y—-2x=0,xy=8.

2) A rectangle has a length that exceeds its width by 5 cm, and its area is
50 cm?, find its perimeter.

3) Find in R x R the solution set of the following equations:
X—y=0,x*+y*+xy=27.
4) Measure the arc that represents %the measure of a circle, then find the

length of this arc if the radius of the circle =21 cm (r =¥ ).
5) In the opposite figure: C D
CDis a tangent to the circle M at C,

where CD // BA , and m(2CAB) = 55°,
Find with proof m(2ACB). B - 55
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